
x4

ST4.2x32

x4A3

1

2
5

4

6

3

A1

A5

2

6

2

4

6

8

10

2

1

2

1

1

M6x20

x8A4

M6x12

x4A5

ST4.2x16

A5 x2

A2

A4

2

1

M6x12

A1 x1

4x4

A2 x4

ST4.2x32

A1

A1

A4 x8

M6x12

x1

A1 x1

5x5

11

8

9

3

1

A1 x1

4x4

7
7

3

12 1

12

1

3

A2

4x4

5

2

4

7

A1 x1

9

11

1

2

4

1

2

1

x1

3

7

6

2

1

A1

ST4.2X19

13 1 14 2

15 1

14
15

10

11

13

Item No.: GET119E-L

Installation guide

Item No.

Column Design

Maximum Load

Max Speed

Highest Position

Lowest Position

Height range

Outer tube

Desktop

Inner tube

75mmx45mm

2-stage & enhanced column

50KG

25mm/s

1250mm

750mm

1200mmx600mmx18mm MDF

GET119E-L

  500mm

70mmx40mm

Technical Data

Accessory List

Attention: The drawings below are only for reference which might be slightly different from the actual object, please in kind prevail. Any tools missing 
or installation problems, please contact the customer service firstly.

5x5(With cross)

Part List

No. Part Qty No. Part Qty

Handset

Feet cover

Lifting 
column cover

Power plugFeet

Left lifting 
column setTabletop set

Installation Instruction

Cable Tie

Handle Rack

Headphone Hook Switch Rod

USB Cable

Install the lifting columnSTEP1 
Install the left column

Insert

1.Insert the column coupling into the 
gear box as shown in the figure.

2.Rotate the left column to the position shown 
in the figure to avoid the screws, and rotate it 
counterclockwise after fully inserting it.

Tighten

3. After rotating as shown in the figure, use a 
4x4 allen key to tighten two M6x12  screws to 
complete the installation of the left column

4. The installation of the other side column 
is the same as that of the left column, and 
the direction is the same.

Note: The method of installing the left 
column is the same as that of the right 
column, and the direction is the same.

Rotate the column after 
inserting it to the bottom 
to avoid height difference

STEP2 Install the feet

5x5(With cross)

Connect the feet to the column, use a 4x4 allen key (A1) to screw 
eight M6x20 (A4) and tighten them, and use a 5x5 allen key (A1) 
to screw ST4.2x32 self-tapping screws (A2) to fix the lifting column 
cover (6) and the feet cover(7).

STEP3 Install the handset

Put the handset into the position shown in the figure above, 
align the two bottom holes of the table as shown in the figure, 
and not align the other bottom holes. Use a 5x5 allen key 
with cross (A1) to fix it with two ST4.2x19 self-tapping screws.

USB Cable

Handset HookRemote Control

Handset 
Support Rack



3

5

5
5

5
4

●

A

5:1

9

A3

A1 x1

5x5

A3 x2

ST4.2x16

A1

G

BR

W

OFF ON

STEP4 Install the Cables and Light Strip
This adapter can be removed 
by tearing off stickers

Put the adapter into the adapter bracket, 
and then connect the power cord to the 
adapter. One end of the switch cord is 
connected to the adapter, the other end 
is connected to the handset, and the 
motor line is connected to the handset. 
Connect the USB cables to the left and 
right light strips respectively, and fix them 
on the tabletop with cable ties.

Tear off
Manage Cable

Fixed

Fix the cables to the tabletop with cable 
management(5x4) to keep the desk clean

STEP5 Install Acessories Handle Rack

Install the headphone hook (9) with ST4.2x16 
screws (A3) and use a 5x5 allen key  (A1)to 
tighten. Put the handset rack on the desktop 
after finishing installation.

● “▲”
● “▼”

50

Lifting Funcion
press the “▲”or “▼” button to increase or decrease the height

Reset Function
(1) Hold the “▼”button for more than 5 seconds to enter 
reset mode when at the lowest position. The reset is not 
completed until the lifting system reaches the bottom, then 
rebounds to stop.
(2)When the lifting system fails, release the button and long 
press the “▼” button.  The reset is not completed until the 
lifting system reaches the bottom, then rebounds to stop.

Resistance Function
(1) Built-in sensor, when encountering any objects, the device 
instantly stops and reverses to avoid damage.
(2) Simultaneously press the “▲” and “▼”button for more 
than 5 seconds to turn off or turn on the resistance function.

●

●

Remote Control

16 Single Colors 8 Dynamic Modes

18m Long Distance Control
Brightness   Adjustment

Monochrome Area

Monochrome Area

Seven-color Flashing

Monochrome Strobe/
Monochrome Gradient
Three-color Flashing/
Seven-color Gradient
Three-color Changing/
Seven-color Transforming


	Page 1
	Page 2

